_P(AIB).= P(AB)/P(B) = P(*0= & P&

B A
Z p(A) = FAR)+ pCAE)
- pARPE) + PrAlE ) prE)

'b7C
AR AD
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* A man shoots a target. When sunny day, he has 0.8 prob. to

hit the target; when raining day, he has 0.4 prob. to hit. The — L‘,

weather has 0.7 prob. to be sunny, and 0.3 prob. to be (- ¢ N ‘t,MDQ/k -+ 4 Cilj
raining.

The man shoots today. What is the chance that he hits the Q_- (E f)

target today? ,

PCE[A)=08 PCE[A): 0-Z7L
pCAY= 07, PlAyo3
@ W“%SU' P(E):P(EIA)-f(A)Jr Pcc\%)-y(fx}
= 03xo7 4 oGxaz < 0.473
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/
In a gamble game, there are three cards, two are blank and one has sign. They are P( ?( ) = /5
folded and put on table, and your task is to pick the signed card. First, you pick one

card. Then, the casino player will remove one blank card from the remaining two. @ )/7 ( S> 9 }) ( C) 9,

Now you have the option to change your pick, or stick to your original pick. Which
option should you take? What is the probability of each option?
Wednesday, August 20, 2014 12:29 PM

(D Model - Ri: Pk gt ot fik yoad. PCS) = SIDE PCR.)
W Vv wwirj o s ., + PCS( W,> . F(W,)
Yeond - - [ [
M ) X = + Ox 'Z/;C _;

S Stk b fir pick o i :
5 d\m(j{ (ﬂc\:\ e ?CC> = | PC5) :_%
P peelay ey + peelu)-py
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PCSl@sw/m vrks)
= p(at o one of them woks )
=1~ P (a\ o))
= |- PCast il O 2 il0r)
= |- Putgful) ’P(%L”‘D‘{Y%D--
= |- Crpy



HQAL@DM—Q&(B}‘;? 33 f; (A)

= P(B|A)P(A)
_/P(B\A)P(A)—|—P(B|Ac)P(AC)
F(b@ F(AfB)’/ P LAY &)

R of 4tal P&

p(A[B)- P2E)

\7(5)

PBIA) 2 pAg)

&

P&
PAB): oA foty



A man shoots a target. When sunny day, @ /M?"LQL ‘

hehas 0.8 prob 't hit the target; when bt Mt . Swn Yain
raining day, he has 0.4 prob. to hit. The C %ie\sﬂ _ 0p
weather has 0.7 prob. to be sunny, and P Moo

0.3 prob. to be raining. P (ht|vai) = o

s < O, (yvam)=05
Q: the man misses the target today, what ? W\>~_ [ I "1_
IS prob. that today is sunny? Raining? (- P( Swn| hit) ) P(YW‘ 1\;%)

F(QM\\K\“D = F(h;-t‘g”"\‘:) ' P(S“L _ ® 2 X‘D] o ]95
PChi) PlAt) 3373

P(Ek 7 = Pd\?{' ]Sm\) : ?C)hh} <+ 3{(1\;&)?0\[@ .P(mi/\> = 0.1X0.7+4 05 x03= 037
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